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2 ELRISRAEESERR =l 0-8 DA¢ 1-4 1-7 0 2 19 -17 4
3 BT ERBEER iHE 0-2 4-1 PA¢ 2-1 9) 9) 4 2 2
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BREESLAEY v A—15FA
9:30 11:00 12:30 14:00
8A55A|A—1|A—2|B—1|B—2|A—3|A—4|B—3|B—14
8A6H | B—1|B—3|A—1|A—3|B—2|B—4|A—2|A—4
8A7TH|A—1|A—4 B—1|B—4|A—2|A—3|B—2|(B—3
BREESLEY v 1—15B
9:30 11:00 12:30 14:00
8A5A|(C—1|(C—2|D—-1|D—2|C—3|C—4|D—3|D—14
8A6H |D—1|D—3|C—1|C—3|D—2|D—4|C—2|C—4
8A7TH|C—1|C—4|D—1|D—4|C—2|C—3|D—2|D—3
REB—F AV
AT IV—TF 141 BESEER —0 5
8 59 H10:00 1
BIIWN—T1141 ENFEREFR —0 4
8H9A10:00 | RESSER
COIN—=T141L B/ F¥EEEER —0
8 A9 H10:00 0
DIN—=TF111 BRAZESEIR —_—3

BaHL S (XL EBLRREE




